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English
Lesson 1
Anshi and the Singing Bird.

Short Answer Questions.
What did Anshi often dream about?
How did Anshi get water from the spigot?
What did the bird offer Anshi?
How did Anshi overcome her fear of singing before the students?

How did Anshi help her family?

. Long answer questions.

Describe the beauty of the Thrush?

‘Be kind to animals, for kindness will surely be returned by them.’Give
an example of this idea from Anshi’slife.Can you give an example from
your own life

Reference to context.

“Anshi loved going to collect water”

a) Who is Anshi?

b) Why was she going to collect water?

¢) Give two reasons why she liked going to collect water.

“Don’t be afraid little one”

a) Who said these words to whom?

b) Why did the speaker think that the ‘little one’ think they were??
c) At first, whose words did the ‘little one’ think they were?
Antonyms

drought x plenty,surplus

better x worst



V. Synonyms

—

parched = dried out with heat
2. gushed =flow out of something in a rapid and plentiful stream.
Lesson 2
Coffee at Coorg.
I. Short Answer Questions.
1.  Where did sage Agastya hold Cauvery?
2. What was Madikeri called originally and what did it mean?
3. What is the source of the Cauvery and how is it marked?
4. What could be smelt at the homestead?
5.  For whom is Talacauvery a place of pilgrimage?
II. Long Answer Questions.
1. Describe the homestead as the author describes it.
2. Can you give another example of how the ‘diverse beliefs and
communities’ of India come together?
II1. Reference to context.
1. “The service was quiet, courteous, and friendly.”
a) Where was this service?
b) What was the service?
¢) Give another word for ‘courteous’?
2. “Aghast at his sin, the sage knocked his own head with clenched fists.”
a) Who was the sage?
b) What was his sin?
c) Give the opposite of ‘clenched’?
IV. Synonyms
1. encircled = surrounded

2. riot of colours=an array of contrasting colours
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Iv.

Antonyms
courteous x rude
consecrate X deconsecrate,desacralize
Poem- If.
Short Answer Questions.
How should you behave with people who doubt you?
If one hears lies or faces hatred, what should one do?
Why should we not make dreams our master?
How should we react when we win or lose?
What quality is required to speak the truth?
Long Answer Questions.

If a person has these qualities, what are the two things he will achieve.

. Reference to context.

“Are losing theirs and blaming it on you”
a) Who is “you”?

b) What is being lost in this line?

¢) What is being blamed on ‘you’?

“If you can fill the unforgiving minute with sixty seconds worth of
distance run.”

a) Why is the minute called ‘unforgiving’?
b) What is the ‘distance run’?

¢) Give another word for ‘worth’.
Antonyms

triumph x defeat

foe x friend



Lesson 4.

An Unlikely Hero
Short Answer Questions.
Who was the ghost from the narrator’s boyhood?
What did Prashant find in the narrator through instinct?
Why had Prasant gone to America?
Which hero was the favourite of the narrator’s son ?
What did the narrator want from Prashant?
Long Answer Questions.
Why do you think Prashant wanted to run away when he met the

narrator in Los Angeles?

. Reference to context.

“You obviously did well”
a) Who is the speaker?
b) Whois ‘you’ ?

¢) How does the speaker know that the other person ‘did well’?

Poem. — The Lake Isle of Innisfree
Short Answer Questions.
Where does the poet want to go?
What will he keep there ?
What will he plant there?

Where will the cricket sing?

. Long Answer Question

What will the poet hear day and night.



II1. Reference to context.

L.

IV.

“I hear it in he deep heart’s core”
a) Whois ‘I’?

b) What is ‘it’?

¢) Explain ‘deep heart’s core’?
Antonyms

arise x dissolve

deep x shallow

s sfeoskoskosk sk ke sk



10.

1.

ald00 1

B 05loe1ans]
B)H1OM)SEBBIVO) @RYOIEM ?
200® af)aM alBOWIHM GRAMOAIV] AIOYIN® af)a0)?
)S1BU3 ag)BIOM GalOHLIWOEM BOMOY?
®)51U8 BBl BHWI0 BalUd)HWIo HaIYIAND® @RYECOISIEM?
HENME0V] HFlaflo}MM® @RYO?
BOMAIOM @RV 2@ @RYDIEM?
A00VEBBUB 2100MM) .......... Galdel.
........... MI0eEIIMNO0) QIYOSBo.
aloMilom ANVE® ag)WIEMISIEM Daldflajllen)amo?
a}@O®M ((a10al1M) HOl@®Wo GRYSOOLI0?

BLaHEMNILOWIOS HBOMIUIG?

ald0o 2

AU1IcWI0a )89 U3
@100 ©2101® HalOMRAETNAHHBBS H2ISIVOS GaldOT)?
DeIen 16103 MDND)OMYEaIIL! alajnemld:ud MIEOMIAl] 21S] aB@®o6m?
ME0UE H@OSIEMIOUB GalSla] &)o@ o NlaBAINEBYIN 621S] aG@I6M?
HS)oaloelg) Boames Ao MG HaISIWOS CalOOD)?
©210)AINMOMIOL! @RYME:US @RI ?
2epl0 2R10IOS2IDMYo MG )TN ?
MIMOS BIGOIV)MMOV)HSWI0 a0iBYOEMIENo B0) adlS] ... 26Nns.
aBO®E0 GOTHENSS AIFICWO0a )HHSOEM MIMES BICOI0)OMO}ESW)0
a0\ BOOMIENSB®)?

‘U0 NBDUB’ aB® HI@IVI@3 awla)?



10.

10.

aldOo 3

WMl Id D@D
2o |@MIFH: BN MVBY BO)HHIVWT @RYO?
6NI0LIH@O0W] Alle)IMEIMOM af) TBIV® @RYG?
‘@erem@mlanlalala)) allsmd’ af)a» alO6om@O0?
@RYOYOS UM (ald00206M UBIAIM TVBLTE) AUMD?
@SB (AITLOOMOTIOG DalLEMIMONIG?
¢2100) aflsmil aleleEmAIR f)aD O 210®)?

vy

13 v v
melalemo MAHeMMo afllgmyalowlel am - DM alOEOI®I0?
‘WMOWIMOLNM’ - @RYdI6M ?

)88 af)(@ ®O0? @Al afal?

(010211M HAN@VOWITE 9UBOQ|S}AM Haildud @REOLJ00?

aldOo 4
ald)OM)MNIVNS BRYS
AlDOMEROWOS @YS aB® TVIaoIMY ANlRONEDIT DUBE|S)AN)?
@S alellaj $101@ IH1G1O YTV HEBUW aBO@LI00?
200 MOMABMIT MIANYo BHIUWD G210G2f)QUEBB)IMO@ABIMOM ?
Al0OPAOWOS @OQI0 MO0YMNHD® G 0Ud?
“emoM 15080103100 |0CH60800” DD GlaHEM] MPHH)AN®IG?
9600lH60 2)a0023 NIHIGIOG 2OQO0) Gald?
MYBODIM )M @ROIWHA|SIAN TVIACIMIBNIOM @RYG?
OMQY)o aleRMVIOW)o &S] @IIMOM NIHIGIN BMUM] OB0S)ENAN @OV ?
auiamo aflgleel Mepwas:gjo ALDTad8)o MAIDEIAICOININS IGO0
D16l al)TVDBHAE ..........

‘aloCPROW)OS @RS’ LGN TVANCUHUD af)av)?



A A A B Gl A

h_
e

A A A R o A o

—_
S

HINDI
qe -1
g T AT Al
TF I | AR At |
=TT % U B B9
TTAT T BT A TSl 29
‘TE T TIT AV ATHS & qAT HAA G B?
T AT HHP S T 22
=TT BT TATT HAT 27
=TT HT I BT B9
=TT HY AT 29
T AT HEH T T T 89
= AT 1 FT 4T IEHG 29
T AT STl ¥ AT of STt 29

qre - 2
T
TH TS H of TBT BB THl B Al 29

o TP BN TAHAC TG Bl BT F A2

o TIHT & T H AARST b FqrUT T a9
ST T Bih Ul BHBT IScll B 29
&Y T AW Bl of THT BT 9T THAT TSl oT?

o TIHT 3T IWSH ATg TEAT B SICT YT A § FAT AT B A2
o TH TIAR B GEE B A BET B BT A2

THEHA H HH A FT ASH AT?

TIHT T & FROT o TTHT Bl WE F T BEP TSMET?
. TTER F AN A BT B T FEHL BT A?

-10-



o © N kWD =

o 0 N kW =

—
S

Qe -3
AR
T 2T 37 PR Iq?
FHIT 3T ITTAT T WA T ST B A7
‘A TRA’ BAT AET &9
HIMT FITH TH B TEAT?
FIAG A TH BT I F dF FAT?
& TR BT A2
oI ITHAT ST BT T8 & o7 T Y TE A7
7T IS & FT AHA?
I AT BT FAT HIAT ATEAT AT?

. BT Bl B T 9T JIBAE AT B9

e @ uiSt ot T
<fg & T BT ST & &9
915 HI TIME FAT F9
<fe & gcA-gad BT T BT P adql | adqrdr T4AT 29
qig Ted Ucd & AT & ST 27
<tg Sed Tad B Mol & ST 89
T ASTH ATl ASHT B ATE HH FHIAT B9
<[t I TP IT HT ST 29
g AT TATE FE BATY §Y 29
g P a6 Tl Sar 29

. TSP F IR AG IH FAT FASAT &7

-11-



Science
Components of Food
I. Fill in the blanks.

1. The essential nutrients of food are ) )

2 are called body building materials.
3. Deficiency of vitamin D causes
4.  Over eating of fried and fatty food items causes
5. Pulses are a good source of
II. MCQ
1. Presence of proteins in a food item can be tested by using
a. lodine solution
b. copper sulphate solution
c. caustic soda solution and copper sulphate solution
d. iodine and copper sulphate solution.
2. The mineral necessary for the formation of haemoglobin.
a. Phosphorus  b. calcium c. iron d. iodine
3. Roughage helpsin
a. Digestion of food b. protection of body from diseases
c. absorption of water d. elimination of undigested food
3. Vitamins and minerals are known as
a. Body building food b. protective food
c. energy giving food d.bothaandc
4. Which is the good source of proteins and iodine?
a. Liver b. iodized salt ¢ fish d. egg
III. Short answer questions.

1. Name the three major food groups
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Why it is advisable to take iodized salt?
Why is water necessary in our food?

What are the constituents of a balanced diet?

A

Why do children asked to take at least one tumbler of milk daily?

Sorting Materials into Groups
I.  Fill in the blanks.
1. Mustard oil is ...ccoveenneennee. in water.
Grouping of things is done for ............
A sugar syrup is a ................

2
3
4. A thing can be made of different ...........
5

Materials which conduct heat quickly are called ......... of heat.
II. MCQ
1. Which one of the following is not soluble in water?

a) Turmeric powder b) Alum

¢) Common salt d) Sugar

2. Which of the following is not soluble in water?

a) Charcoal b) Glass c) Air d) Water
3. Which one will show a metallic lustre?

a) Any surface of a metal

b) Freshly cut surface of a metal.

c¢) Freshly cut surface of non-metal

d) Surface of all materials.
4. Which one of the following is insoluble in water?

a) Alcohol b) Sodium chloride

¢) Coconut oil d) Sugar

-13-



5. Purpose of sorting materials into groups
a) to study their properties b) convenience
c¢) both (a) and (b) d) inconvenience
III. True/False
1. Grouping is a useful process.
Things made of gold and aluminium have no lustre.

All objects are made up of same kind of materials.

v

The materials which do not allow light to pass through them are
called opaque.
5. Same things can be made from different materials.

IV. Short answer questions.

1. Define a)opaque b) soluble c) lustre

2. Why do we need the grouping of objects?

3. State conditions when pure water can loose transparency.
4.  Why is water called a universal solvent?

5. On what basis are the various objects grouped?

Separation of Substances

I. Choose the correct answer

1. Salt is obtained form sea water by the process of ...........
a) filtration b) sedimentation and decantation
¢) evaporation d) condensation

2. The process of conversion of water into vapour is called .........
a) filtration b) sedimentation

¢) evaporation d) condensation

-14-
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True/ False
Sepearation of sugar from tea can be done with filtration.

Grain and husk can be separated with the process of decantation.

. Give one word.

The materials through which objects can be seen, but not clearly.
It is a process by which fine particles are separated from higher
particles.

This process used to seperate slightly larger particles from a mixture
by hand.

This is used to separate insuluble solids or liquid from liquid.
Answer the following.

What is winnowing?

Write opposite method of evaporation.

What types of materials can we separate by hand picking?

Write three methods of seperation.

What is decantation?

How will you prepare cheese?

Explain the method that can be used for separating the following
mixture.

a) sand and husk

b) wheat, sugar, stalk

c) water and petrol

d) rice and salt

e) sand and salt
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Getting to Know Plants

MCQ
1. Rose Plant is an example of
a. Tree b. herb c. shrub d. climber

The inner most part of a flower is known as

a. Stamen b. sepal c. pistal d. petal

Parallel venation is not found in

a. Grass b. rose c. wheat d. maize
Which one of the following is not required for the process of
photosynthesis?

a. Carbondioxide b. oxygen c. sunlight d. water
Carbondioxide is essential for the process of

a. Conduction b. transpiration c. absorption d. photosynthesis
Fill in the blanks

____venation is present in mango leaf

The loss of water from the leaves is called

Ovules are present in the

Beetroot is an example of

Water travels upwards in the stem through  inside the stem .
Give examples for each
Name 2 fibrous root

Name parts of a flower ,
Name two plants with reticulate veniation ,
Name of two plants with parallel veniation ,

Two types of fibrous root ,
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History
Lesson 1
STUDYING THE PAST
Give very short answers for the following questions.
is the study of the past
History is generally divided into and

The period is the time when writing had not been invented.
The proto historic period is the time for which we have records.

An example of proto historic period is the

The time period after the invention of writing is known as
Early writings was done on

Dates in history are expressed in

has played an important role in the history of India.

The acted as a natural barrier between India and central
Asia.
The historic sources can be divided into and

sources are direct evidences.
Written records engraved on rocks, cave walls, metal pillars etc. are
called .
Buildings of historic importance are called
The objects that humans made in the past are called
Handwritten records of the past in the form of books, are called

Literary sources may be divided into two types- and

Writings which deal with religion are called

. Examples of religious literature.
. Writings which are not religious are called
21.

Examples of secular literature.

-17-



22.
23.
24.
I1.

The Arthashastra was written by

The Indika was written by

Manuscripts were usually written on

Give short answers for the following questions.

Why do we need to study the past?

How have the Himalayas helped in shaping the history of India?
How is the work of an archaeologist and a historian similar to that of a
detective?

What are monuments? What do they tell us ?

What is religious literature? Give two examples.

. Give long answers for the following questions.

Why did people first settle near river valley?

Write a short note on secular literature.

Politics
Lesson 3
FORMS OF GOVERNMENT
Give very short answers.
The is a political system by which a country or state is

administered.

Three organs of the government:

The forms the basis on which a country or state will be
government.

Democratic and authoritarian governments are classified on the basis
of

The word democracy is derived from two Greek terms and

‘Demos and kratos’ together means

-18-



I1.
12.
13.
14.

15.

16.

17.

18.
19.
20.
21.
22.

23.
24.
25.
II.

More than a form of government, is a way of life.
means that all adult citizens have the right to vote.

The word means absolute obedience to authority.

Under the system, the legislature and the executive are
separate.
In the form, the executive is a part of the legislature.

The Parliamentary system is characterized by the

The Presidential system is characterized by the

In the system the head of the state is separate from the head
of the state is separate from the head of the government.

When there is only one government for the whole country it is known
asa form of government.

Ina form of government, the distribution of power is
between the central and state government.

A is a set of laws which define how a state or country is
government.

Types of constitutions-

The British constitution is a classic example of an constitution.
A is a political document.
A constitution cannot be changed or amended easily.

A constitution that can be changed or amended easily without breaking
its framework is called a constitution.

Example of rigid constitution

Example of flexible constitution

‘Universal adult franchise’ means:

Give short answers for the following questions.

What is a form of government? On what basis is a democratic or an

authoritarian government classified?

-19-
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Where are military regimes mainly found? Give three examples.
Write two differences between the Parliamentary form and Presidential
system of government.

What is a constitution? List the different types of constitutions.
Why are written constitutions rigid?

What is a government? What are the functions of the government?

Which categories are denied the right to vote in most countries?

Geography
Lesson 1
THE EARTH AND THE SOLAR SYSTEM
Give Very short answers.
A isthe distance travelled by the light in one year.
The stars are formed from
The distance between the heavenly bodies in the universe is measured
n__
The nearest star to the earth, apart from the sun is
The family of sun is known as the
The solar system is a part of the galaxy.

The brilliant disc of the sun, that is seen from the earth, is called the

The is the largest member of the solar system.
The light from the sun takes about to reach the surface of the
earth.

The inner planets are also called
The outer planets are also called

and declared that the earth is spherical in shape.

The closest planet to the sun.

-20-



14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
II.

hall

Planet which is known as Earth’s twin.

The planet known as ‘morning star’/ ‘evening star’.
Planet known as ‘red planet’.

Mars has _ moons.

Largest planet in the solar system.

NASA describes Jupiter as

Most beautiful planet in the solar system.

The planet with the largest number of moons.

Planets which are known as ‘Twin Giants’.

The word satellite means

The only planets which do not have any known satellite.

The satellites move around the planets from

The heavenly body which is closest to the earth.

are small planet-like solid objects found in the solar system.

Asteroids are also known as

The main asteroid belt lies between the orbits of and
are the small pieces of rocks revolving around the sun.

When the meteors hit the surface of the earth, they are called

Comets are huge lumps of and

Groups of bright stars in the sky.

The most easily recognizable constellation is the

Give short answers for the following questions.

Name the planets according to their increasing size.

Name the planets according to their distance from the sun.

Why do the planets do not twinkle like stars at night?
Why is the earth called the blue planet?
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III. Give long answers for the following questions.

1.

A S A T I S e

_.
e

Describe the phases of the moon.

LATITUDES AND LONGITUDES
Name the following.
The end points of the axis of the earth.
The part of the earth which is towards the north of the equator.
The circles run from west to east and are parallel to the equator.
The network of parallels and the meridians on a globe.
The largest parallel on the earth.
The zone of the Tropic & Cancer and the Tropic of capricorn.
A set of lines joining the north pole and the south pole
The meridian which passes through greenwich.
The zone lies betwen tropic of capricorn and Antarctic circle.

The word meaning of ‘torrid’

22-
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Mathematics
Lesson - 1
KNOWING OUR NUMBERS

Choose the correct answer:

The difference between the place value and face value of 8 in 658742 is

a)0 b) 42 c) 735 d) 7992

How many four digit numbers are there in all?

a) 1000  b) 1001 c) 9999 d) 9000

Ten millions equal to

a) 10 lakh b) 1 crore c) 10 crore d) 1 lakh
How many lakhs are there in one million?

a) 100 b) 10 ¢) 1000 d) none of these
The symbol M in Roman numeral statnds for

a) 100 b) 500 c) 1000 d) 50

What is the difference between the greatest and the least number that
can be written using the digits 6,2,7,4,3 each only once?

a) 50000 b) 52965 c) 52865 d) 51965

The greatest 5 digit number using the digits 4,9,0,3 is

a) 90043  b) 99340 c) 30049 d) 99430

The smallest number of 5 digits having three different digits

a) 10002  b) 21000 c) 10020 d) 20001

100 thousand is known as in Indian system

a) 1 million b) 1 lakh c) 10 lakh d) 1 crore
Roman numeral for 99 is

a) IC b) XCIX ¢) CXIX d) LXXXXIX
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II. Fill in the blanks.

11. The numeral for the number nine crore five lakh forty one is ........
12. Greatest four digit number using different digits is ..........

13. 1crore=......... million

14. The smallest five digit number with five different digits is ......

15. The numeral for LXIV is .........

16. The Roman numeral for 500 is ......

17. . thousands make 1 crore.

18. The numeral for five million four thousand three is .........

19. The numeral for 3,00,00,000 + 8,00,000 + 50,000 + 300 +90 + 2 is ....
20. The product of the place values of two threes in 53432 is ........

II1. Do as directed.

21. Arrange the following numbers in ascending and descending order
a) 9801, 25751, 38802, 15892
b) 75384, 73359, 75084, 73059

22. How many milligrams make one kilogram?

23. Write the Roman numerals for each of the following.

a) 100 b) 98 c) 47 d) 39 e) 74

24. Write the following in Hindu Arabic numerals.
a) M b) LXXII ¢) XCI d) XLIX

25. Write the number name of the following in Indian system of numera-
tion.
a) 82063982 b) 90725006 c) 201006190

26. Write the number name of each of the following in International system
of numeration.
a) 90153080 b) 25708375 ¢) 300500406

24-



27.

28.

29.

30.

31.

32.

33.

34.

35.

A brick can be painted using 75 ml of paint. How many bricks can be
painted with 10 litres of paint?

To stitch a shirt, 2m 25c¢m cloth is needed. Out of 40m 50cm cloth, how
many shirts can be stitched?

Medicine is packed in boxes each weighing 3kg500g. How many such
boxes can be loaded in a van which can not carry beyond 70 kg?
Divide: 48520 + 128

Multiply 6789 % 876

How many minutes are there in a non leap year?

A soap factory produces 4570 soap cakes a day. How many soap cakes
did the factory produce in 2020, if there were 64 holidays in the year?
A vessel has 4 litre and 650 ml of curd. In how many glasses, each of 25
ml capacity, can it be distributed?

Find the difference betweenthe greatest and the least number that can

be written using the digits 5, 9, 3, 0, 8 each only once.
Lesson - 2
WHOLE NUMBERS

Multiple choice questions.

The smallest whole number is

a)0 b)2 o)l d)—1

The predecessor of 1 million is

a) 99999  b) 999999 ¢) 99990 d) 999990
The smallest natural number is ...........

a)0 b) 1 c) 100 d) None of these
The value of 0 = 9 is

a)0 b) 1 c) 100 d) None of these

25-



10.

I1.

I1.
12.
13.
14.
15.
16.
17.
18.

The multiplicative identity for whole numbers is

a)0 b) 1 ¢) both 0 and 1 d) None of these
Choose the correct statement.

a) All whole numbers are natural numbers.

b) Division is commutative for whole numbers.

¢) The natural number 1 has no predecessor.

d) The whole numbers are closed under subtraction.

The predecessor of 1 in whole number is ......

a)0 b) 1 c)-1  d) None of these

The product of a whole number (other than zero) and its successor is
a) an even number b) an odd number

c) divisibleby 4  d) divisible by 3

Which of the following is not zero?

6—6
)0x0 b ~ 0 22 d)4+2
2 2
How many whole numbers are between 437 and 4877
a) 50 b) 49 ¢) 51 d) 48
Fill in the blanks.

12x45=12x50—-12 x .........

........ X 8975 =8975 x 1243

The product of the successor and predecessor of 99 is .........
The additive identity for whole numbers is .........

The value of 270 X3 +270 X 7 is .........

.......... is the predecessor of 20900.

The successor of 730099 is ...........

The value of 85 + 0 is ..............
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19.

20.

II1.
21.
22.
23.

24.

25.

The value of 2 X273 X 50 is.........

Are all whole numbers also natural numbers? ........

Do as directed.

Write the predecessor of the smallest 5-digit number.
Write the successor of the greatest 3-digit number.
How many whole numbers are there between

a) 75 and 123 b) 34 and 134 c¢) 45 and 95
Identify the property

a) 56 +34=34+56

b) 23+0=0+23=23

c) 4xX(5x9)=(4x5)x9

d) 1x89 =89%x1=89

e) 49x(99+1)=45%x99+ 45 x

Find the following using suitable properties.

a) 25x3452 x4

b) 234 +387+ 113

c) 148 X 156—148 x 56

d) 134 x99+ 134

e) 625x476x8

f) 756 x 862+ 756 x 138

g) 451 %102

h) 999 x 256

i) 34x99

j) 126 x 1001

k) 729 x40+ 729 x 60

1) 238 %999 +238

27-



26.

27.

28.

29.

30.

m) 293 X 1008 — 8 x 293

n) 345 %105

0) 1784 +293 +516 + 507

Write down three consecutive whole numbers just preceding 84100.
Write down next three whole numbers just after 780099.

Arrange the following numbers in descending order.

78200, 380004, 9843, 85002, 99999

The digits of 7 and 5 of the number 47350 are interchanged. Find the
difference between the original number and the new number?

A whole seller supplies 52 kg of rice on first day and 18 kg of rice on
second day. If the cost of 1 kg of rice is 50, how much money will

shopkeeper pay to wholesaler?

Lesson -3
PLAYING WITH NUMBERS

Choose the correct answer.

The smallest prime number is ...........

a)0 byl ¢2 d)3

Which of the following is a composite number?

a) 23 b)29 c¢)42 d)none of these

The HCF of 25 and 125 is

a)l b) 25 c) 125 d) none of these
The largest 3 digit number which is exactly divisible by 4 is
a) 998 b) 994 c) 125 d) none of these
The LCM of 100 and 101 is

a) 10100 b) 1001 c) 10101 d) none of these
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10.

I1.

12.

13.

14.

15.

II.

16.

17.

18.
19.

What least value should be given to * so that the number 6342%*1 is divis-
ible by 3?

a)0 byl ¢2 d)3

Which of the following numbers is divisible by 4?

a) 895650 b) 942832 c) 794342 d) 83582
Which of the following numbers is divisible by 8?

a) 93421 b) 735408 c) 954654 d) 64394
Which of the following is a prime number?

a) 71 b) 81 c) 91 d) 51

Which of the following pairs is a pair of coprimes?

a) 6 and 12 b)12and 14 c¢)13and 15 d) 11 and22
Which of the following are not twin primes?

a)3,5 b)5,7 c) 11,13 d)9, 11

The number of primes between 90 and 100 is

a)0 b) 1 c)2 d)3

Which of the following numbers is a perfect number?

a) 16 b) 6 c)8 d) 10

The HCF of two consecutive even number is

a)l b)2 c)0 d) none of these
Which of the following numbers is divisible by 11?

a) 1111111 b) 22222222  ¢) 33333 d) 4444444
Fill in the blanks.

HCF of 9 and 18 is .............

LCMof6and 12 s .............

HCEF of two prime numbers is ...........

LCM of two prime numbers is ..........
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20.
21.
22.
23.
24.
25.
26.

I11.
27.
28.
29.

30.

31.
32.
33.
34.

35.

36.
37.
38.

A number which has only two factors is called a .........
.......... is a factor of every number.

.......... is the only even prime number.

Prime factorisation of 18 is ...........

The smallest composite number is .........

Two perfect numbers are ........... and .........

LCMof8and 12 is ..........

Do as directed:

Give two pairs of twin primes below 15.

Write all prime numbers below 25.

Find the HCF of the following numbers.

a) 84,96 b) 170,238 c) 144, 180, 192

Find LCM of the following numbers

a) 48, 60 b) 17, 18 ¢) 15,30,90 d) 84, 90, 120
Find the greatest number which can divide 16, 20 and 24 exactly.
Write the smallest number that is divisible by 8,10 and 12.

Write the composite numbers between 30 and 40.

Using the divisibility test check whether the following numbers are di-

visible by
2,3,4,5,6,8,9,10and 11
a) 730456 b) 94572

Find the least number which when divided by 15, 16 and 20 leaves a
remainder of 3 in each case.

Find the greatest 4-digit number which is divisible by 12, 16 and 18.
Find the smallest 4-digit number which is divisible by 5,9 and 12.
Determine if 15480 is divisible by 24. (Using divisibility test)
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39.

40.

41.

42.

43.

44,

45.

Write the smallest 4-digit number and express it in terms of its prime
factors.

Find the greatest number of 5-digits exactly divisible by 15, 24 and 36.
The length, breadth and height of a room are 1050 cm, 750 cm and 425
am respectively. Find the length of the longest tape which can measure
the three dimensions of the room exactly.

Find the least four digit number which when divided by 20, 30, 40 and
50 leaves remainder 10 in each case.

Telegraph poles occur at equal distances of 220m along a road and heaps
of stones are put at equal distances of 300 m along the same road. The
first heap is at the foot of the first pole. How far from it along the road
is the next heap which lies at the foot of a pole.

The length of 3 rods are 7m 50 cm, 10 m 50 cm and 15 m. Find the
length of the longest tape that measure those lengths exactly.

In a morning walk, three persons step off together. Their steps measure
60cm, 70cm and 80 cm respectively. What is the miniumum distance
each should walk so that all can cover the same distance in complete

stepts?

sfestesk sk sk steokokoskosk
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